Solutions 
Trade and comparative advantage
1)  Trade with world price of 7 litres/bushel
In autarky, we assumed that Greece had consumed the following basket: 130 l and 45 b.  Given its opportunity cost, if Greece produces one less bushel of wheat, it will produce 6 litres more of oil.  Trading with Spain at the price of 7 litres/bushel, Greece must give up 7 litres of oil to replace that bushel of wheat.  Greece’s consumption level with trade is thus:  129 l and 45 b.  It was thus better off in autarky. 

As for Spain, we assumed that it was consuming 230 l and 67.5 b in autarky.  If it produces one extra bushel, it must lower its production of oil by 4 l.  Selling this bushel to Greece and receiving 7 l of oil in return, Spain ends up with 67.5 b and 233 l, which is clearly a good deal for Spain.  So Spain gains much by trading at that price with Greece.
Note that with such a price, Greece would gain by selling wheat in return for oil.  But then Spain would lose because in its “interior market”, it can “purchase” wheat at a lower price of one bushel for 4 litres.
2) Trade with world price of 3 litres/bushel
In autarky, we assumed that Spain consumed the following basket: 230 l and 67.5 b.  If Spain produces one extra bushel, it will give up 4 litres of oil.  Selling this bushel to Greece brings back 3 litres of oil.  Spain’s final consumption with trade is: 229 l and 67.5 b.  Spain is worse off with trade than autarky.

In autarky, we assumed that Greece had consumed the following basket: 130 l and 45 b.  Given its opportunity cost, if Greece produces one less bushel of wheat, it will produce 6 litres more of oil.  Trading with Spain at the price of 3 litres/bushel, Greece must give up 3 litres of oil to replace that bushel of wheat.  Greece’s after trade consumption level is thus:  133 l and 45 b.  It is thus clearly better off with trade than autarky. 

Note that with such a price, Spain would gain by selling oil in return for wheat at a price of 1/3 b per litre.  But then Greece would lose because in its “interior market”, it can “purchase” oil at a lower price of 1/6 b per litre.
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3b) Greece now has a comparative advantage in the production of wheat because it must give up 2 litres of oil per bushel while Spain must give up 4 litres per bushel.  Wheat is thus comparatively cheaper in Greece than in Spain.
3c) In order for both countries to gain from trade, each must (partially) specialize in the production of the good for which it has a comparative advantage and then trade at an intermediate price between the respective opportunity costs.  
Suppose Greece produces one more bushel of wheat and Spain one less.  Greece then produces 2 litres of oil less and Spain 4 more.  By trading a bushel of wheat at a price of 3 litres/bushel, each country has strictly more oil with respect to autarky, while their respective consumptions of wheat is unchanged.  Both countries still gain from trade, but the direction of specialization is reversed with respect to the example seen in the base case.
3d) This example shows that following labour productivity improvements in the wheat sector in Greece, Greece must reverse its specialization if it wants to keep on benefiting from trade with Spain.  This implies that some workers will be displaced from the production of oil to the production of wheat.  (Note that a displacement may still have occurred in autarky, but the displacement effect is likely to be more important in the presence of trade because of specialisation.)  Typically, such displacements would force some firms to close down in the oil sectors, a problem which usually gets aggravated in the presence of high unemployment.  But this implies that new firms will spring up in the wheat sector that will hire new workers.  Because those future firms and jobs do not exist before the change, firms and workers in the threatened oil sector might try to block the change through an import tariff on oil for instance.  In this case, the country cannot benefit from its potential gains from trade, and can even lose from trade because of distorted prices.  An intermediate solution would be to “gradually” lower the tariff, thus giving time to adjust.  The problem is that such temporary measures often become permanent because of political pressure.  This type of problem is an example of inefficiencies that can potentially slow down long-term economic growth and cause poverty.
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		Opportunity cost 		olive oil		wheat

		Spain
		1/4 bushel /litre		4 l/b

		Greece
		1/2 b/l		2 l/b





















		L’Espagne dispose d’un avantage comparatif dans la production de blé.

		La Grèce dispose d’un avantage comparatif dans la production d’huile d’olive.












